	[image: image24.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2009
Class – X

Subject – Mathematics
General Instructions: 
1. All Questions are compulsory.

2. The question paper consists of thirty questions divided into 4 sections A, B, C and D. Section A comprises of ten questions of 01 mark each, section B comprises of five questions of 02 marks each, section C comprises of ten questions of 03 marks each and section D comprises of five questions of  06 marks each.
3. All questions in section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in one question of 02 marks each, three questions of three marks each and two questions of 06 marks each. You have to attempt only one of the alternatives in all such questions.

5. In question on construction, drawings should be neat and exactly as per the given measurements.

SECTION-A

1. Calculate the discriminant of 
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2. If 
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3. Find the sum of first 22 terms of an AP in which d = 7, 22nd term is 149.

4. If ABC and DEF are two equiangular
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 and AC = 7, DF = 21, DQ = 15, then find AP.  

5. If the probability of winning a game is 0.8, what is the probability of losing it?
6. What is the mean of first eight even natural numbers?

7. Without actually converting a fractional numeral into a decimal numeral, find if.



       


(i) 
[image: image7.wmf]25

3

 has a terminating decimal expansion.
(ii)
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 has a non-terminating decimal expansion.
8. The perimeter of a sector of a circle of radius 5.2 cm is 16.4 cm. Find area of the sector.

9. How many tangents can a circle have?

10. Show that 3 is a zero of the polynomial
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SECTION-B

11. [image: image1.wmf]0
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Solve the following system of equations:    
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12. Prove
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13. Find the point on the y-axis which is equidistant from (-5, -2) and (3, 2).

14. In the given figure 
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 and AD = BE. Prove that DE || AB.
15. A bag contains 12 balls out of which x are white (i) If one ball is drawn at random, what is the probability that it will be a white ball? (ii) If 6 more white balls are put in the  bag the probability of drawing a white ball will be double than that in (i), find x.              Or
A game consists of tossing a one rupee. Coin 3 times and noting its outcomes each time. Hanif wins if all the tosses give same result i. e., three heads or three tails and loss. Otherwise calculate the probability that Hanif will loss the game.
SECTION-C

16. Prove that 
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is not a rational number. 
17. Find the zeroes of the following quadratic polynomial and verify the relationship between the zeroes and  coefficients  
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18. Draw the graph of the following equations: Obtain the vertices of the triangles so obtained: 

y =x, 3y =x, x +y =8,

19. The first term of an AP is 5 and its 100th term is - 292. Find the 50th term of this AP
OR


Find the sum of the first n natural numbers

20. If A ,B, C are the interior angles of a triangles ABC, show that 
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If 
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Prove that 
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21. Determine whether the points (-2, 1), (2,-2) and (5, 2) are the vertices of a right triangle.

22. [image: image24.png]Find the coordinates of the points which divide the line segment joining then points (-4,0) and (0,6) in four equal parts.
23. Draw a pair of tangents to a circle of radius 6 cm which are inclined to each other at 600.
24. In the given fig. DE||AQ and DF||AR, Prove that EF||QR .


25. In an equilateral triangle of side 12 cm, a circle is inscribed touching its sides. Find the area of the portion of the triangle not included in the circle.



OR

In the given figure AB is a diameter of a circle with centre O and OA =7 cm. Find the area of the shaded region.
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SECTION-D
26.  The mean of the following frequency table is 50, but the frequencies f1 and f2  in classes 20-40 and 60-80 respectively are not known. Find these frequencies.

	Class
	0-20
	20-40
	40-60
	60-80
	80-100
	Total

	Frequency
	17
	f1
	32
	f2
	19
	120


27. In a right triangle the square of the hypotenuse is equal to the sum of the squares of the other two sides. Using above theorem determine in right
[image: image18.wmf]ABC

D

 right angled at A and AB = c, AC = b and
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. The length of AD in terms of b and c.
28. A hollow cone is cut by a plane parallel to the base and upper portion is removed. If the curved surface of the remainder is 
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 of the curved surface of the whole cone. Find the ratio of the line segments into which the cone’s altitude is divided by the plane.
29. A man on a cliff observes a boat at an angle of depression of 
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, which is approaching the shore to the point immediately beneath the observer with a uniform speed. Six minutes later, the angle of depression of the boat is found to be
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. Find the time taken by the boat to reach the share.

Or
A tree breaks due to the storm and with the broken part bends so that the top of the tree touches the ground making an angle
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with the ground. The distance from the foot of the tree to the point where the top touches the ground is 10 meters. Find the height of the tree.

30. A passenger train takes 2 hours less for journey of 300 km, if its speed is increased by 5 km/h from its usual speed, find its usual speed.  






Or   
A takes 16 days less than the time taken by B to finish a piece of work. If both A and B together can finish it in 6 days, find the time taken by B to finish the work.
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